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(o) N #include <stdio.h>
7 |:| 7 7 A{gu #:Eglﬁdg <2td:ici).h>
int main()
CCTldseedlIIEENH(T et i
ENIERBZANT S, double y,piLpi2. pi3:
a srandom(time(NULL)); &
LCHMIEREMEET S Pt seed numbeni
&:E—C%%)o :@i%‘éfli scanf("%d",&seed);
time-hjéinCIUde-d_%)dz‘g printf("input number of points ¥n");
% (') o scanf("%d",&n);
ADBITILIFEHOEYE
ABRAITHN B D TEA
£ OlZii5b, pi2, piddDED  m=0;

srandom(seed);

~E03k[— for(i=0;i<n;i++) {
TERCEISE & x=((double)random())/(RAND_MAX+1.0);
RAND MAXI[X y=((double)random())/(RAND_MAX+1.0);
fust/include/stdlib.h@DHT  i((cx+y*y)<L.0)m++
E&H(Hdefine)Sh TLVD, P xsely=eirix)
pil = m/n * 4.0;

pi2 = (Mm*4.0)/n;
pi3 = ((double) m)/((double) n )*4.0;
printf("pi=%lIf %lIf %lf¥n", pil,pi2,pi3);
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#include <fname.h>

0 AVNAILENBRIZ. V—RO—FDZDHIEIC
fname.hGEE (L/usr/includeD FIZH 5 ; EARIIZIE
stdio.h,stdlib.h,math.hZ) DRBENEAINS,

#define ABC abc

0 V—RA—FDDHELIEIZHDABCELNVDIFF
NHNIL, AN ILFFIZBEIMICabcl2BEMNADL
NTHERIRINS,

1 RAND_MAXIZ stdlib.h@th TdefineSh TLV 3,
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A A0 BAELF (X)

F(x) = j f (x")dx’

XX 0, DIT—HRIZT o F DI AT 5,

b LFOWEAF "2 A2 25 Z LN TEIEIX=F(Nic L b

Bl —REEL SR> B 2y A B (OWHE D Bl E RO D Z LM TE 5
%l : f(X) = Aexp(=AX)

F(X) = jox f(x)dx' = [~exp(-Ax)]; =1—exp(-1X)
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X==—In(L~F (x)) == In(r)
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FEFRpAIE p.(r)dr=dr (0<r<1)
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XD RER 3 Aip, (X)ip, (X)dx = p, (r)dra»

P, (X) :ﬁ (x(r=0)<x<x(r=1)
dx
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WYL TIEr = FOOE - Tx = F(r)

Eb, 5L

_dF(x)
mw—dx

XDHERZAIF (XN 72 D
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— BN =R FE BRI G (X,, X, WTAE 9 2 5x,, x, D BEERy, , v, D R34 B BRI T

(X, X,)
(Y1, Y,)

Py, .y, dy, = {%exp(—yf /2)}{%%(—»2 /2)} dy,dy,

E 2D &0 By, Y, R L T2 = Box-Mul lerys

Yy, =+/-2InX cos2zX,,Y, = msin 27X,

X, X, 03 X[ (0, 1) DIRNT 72 —HEELEL T B aiTg(x,, X, )dx, dx, = dx,dx,

o = exp{—i(yf +Y, )} 5 = =L arctan 2
2 27
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(Y1, Y,) |:mexp( i 12) MEXP( Y, 12)

pCYL, Yo)dydy, =q(x, %) | ——=

dy,dy,
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